o
1

3

[2&6] TDIAIM S &

0

< XEIATHAL >

< XPTIRTHA B QOIARE >

XAMFE MZEANM X27|270ME MESHK| B Lt

o

- WY _BERE, e g8, SETUE/EL AR>S, 7Ied

At/

H@DZ )=

- dF 7IF=HEl, @ Ve d8Ee 4 1AEY BHAMNM R7|20HM S
orotez XAMF MESEAMM X7|271ME MZ5HK A7 HEELCE

- AZ|20M A Al XHES oA FAlet SEtIE fH7[=0 HEEX] HES
To[ot0{0F olH, =8+ == =ctelE bl HIUE2 ZEAEE

= A LEL

1. KGS7t FZl.+=dst= A & 713 &
O|= KGSO|A 7|03t At ot= xS LHS =2
7FI—|O Hl_EI-OE II-A-Iol.O;I XA|A|2 (7 0K |. OlLH)

g =80 EAEH " E= =
OlEH =28 =+ UKl AF3t0] FHUAIR. (700Xt O|LY

2. =210| ZHX|A A= I T 7t FOLIt D d245t= 9E
7: Cl ol

3. & X|Qln 2
e 7 UAJ=A] 7I5t0f =LA, (7004t OLK)

ko] HA7F TS XHE deat O d¥E Sot0 =20 FAS

4. =010 ot AN AT 25 UF SO 7t AR E i oHES
=507 ?let =85.0r871E S5 7MoY FHAIL. (7004 OfLY)

5. ZXEM I Q% MK Es HE2e 2ololztn A4
%5 M2t 0|9 E Holo| gtm wi AlS|MEO| B

Z=Al7| HFEfLICE (1000K})




< B8"JlsM >

o

FLICF.

ols
=%

2tRlE RIEf7[E HE2 A7[2IiMLE 5

=
=

=/71&/X]

=
o

tof =¢ele|

-+
(@]

H
/B8 S= THHO|D, FESHA 7|0t F=A[7] HELIC.

A

o-

K

i[K;

-_-—

!

mr
<0

ek

el =
INESYZA =N E2}
(3,000X} L{2l)

HHIEIM >

el

FLICE.

ols
==

82 A7[27MMet 5

X~
~

S Q7|E

=&t

oju
o

1ol

4

o

==
10

-

K

of thall &AM o| F=stA 7|&5t0]

/81 S

Al
=4

/0l & ==

FA|7| HHEfLILY.

- 3,000X} LH<|




